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Second Semester 3 Year LL.B./VI Semester 5 Year B.A.LL.B/B.B.A.LL.B./

Duration : 3 Hours

B.Com.LL.B./B.A.LL.B. (Maj.-Min. System)
Examination, October/November 2022 (June 2022)
PROPERTY LAW

Instructions : 1. Answer Q. No. 9 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

Q. No. 7.

questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada

completely.
Discuss the doctrine of constructive notice. Marks :
ma@(@@o&ﬁ) SORVF m%oédsil W33 R0.
Discuss the rule relating to transfer for the benefit of
unborn person. Marks :
BRROTOE (BOLQTR) B0 a_;jo&aezsda%ﬁ TRRT BAROSTG,
ROLIORAT DOWONTT), QO
Discuss the doctrine of lis-pendens with the help of cases. Marks :
VI FETINT A0S W%, AOBHI), W R0.
What are liabilities of mortgagee in possession ? Marks :
R0 BROQTIR SBRRTWOI BRBMOENTTT) ?
What are the different modes of termination of lease ? Marks :
riee3030s0, RIRATVRRS DT DOINGIR)D) ?
Explain the ‘doctrine of election’. Marks :
‘wody ?qz:a@oa”wagt DWOR.
Define Trust. Explain various kinds of Trust. Marks :

TABR), A WANY A0GF BRI, IFOR.
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Q. No. 8. Write short notes on any two : Marks : 2x8=16
CARR TR TTE ©PO e3¢5 WB0 :

(a) Immovable property.

(b) Extinction of trust.
ames:dd @Oéé'

(c) Onerous gift.
ADleloveb JiaDA

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
BN CIRYTDTR HTW RN YVSOR !

(a) ‘A’ transfers his immovable property worth Rs. 10,000/- to
Lord Sri Venkateswara. The deed of transfer is not
registered. Is the transfer valid ? Give reasons.
‘A Q0WDRI 33N Fe0w 10,000 TRZROL WS e
%oaﬁoi:;bq e :S’o%’@:?eafdd Te0R BRYCST BREITE. BA 0SB0
T, SRCOTBHBOINNTOPRY . AW AR AR DA 0STIE ?
5019 8RR,

(b) Ashok makes an absolute gift of house to Basavaraj

with a direction that Basavaraj shall reside in it. Is
this transfer valid ? Give reasons.

D B, DB, WRDOIBZC W[OR WBRBLIEBY 0
B BTTABS BBREEI BT, WO, WASTITIN
ROZPLIFTIN THT DREIRT. B3 TMFIH  A0PORE ?
U BRR.

(c) ‘A’ who is expecting to succeed to the estate of ‘B’ sells
‘B’s property to ‘C’. Later ‘A’ succeeds to the property
of ‘B’. Can ‘C’ claim the property ? Give reasons.
‘2 0D AR TR YUZTHTN  TEOIVZEF0300T FRD
oD ¢ sy XA BRDVIS. S ‘W B0 ©
SROVT, YUSTEOTTN BRIV, ‘%’ 030 BoH eI B
aa“t#% ARORWTITC 7 TeaNTRR0QN CVZ0A.




